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A S &t 28 V NERSE 0.05 A
1) 2T AIE
b ZZ2E =3
=gt (2reet) =8 A
JIZ=RL (2Helel)
S#1 S#?2 S#1 S#?2
252+l 2} 0|6t 23.5 22.7 or = or =
Lh) EAZE =F (6m 0l&Q XI=XH)
=XN3gt (2reel) =X 2
=E3A (%) JlE=gh (2Hdel)
S#1 S#2 S#1 S#2
10U ~ 10D|45R ~ 45L 0.6 0|4t 23.5 21.9 or = o =
H V 4.0 0|4 23.5 226 or = oF =
2) M AIE
. =
N =3 2
= ol &= 3t S#1 S#?2
=
X y z X y z S#?2
1 0.5877|0.4123|0.0000 |0.5875(0.4125[0.0000
2 0.5877/0.4123|0.0000 |0.5876(0.4124(0.0000
1 Xit%l-/\ﬁl-l
310.440 =y > 0.390/0.5880(0.4120|0.0000 [0.5881(0.4119]0.0000| ©F = oF =
—  2<0.010
4 0.5881(0.41190.0000 |0.5874|0.4126(0.0000
5 0.5882(0.4118|0.0000 |0.5880(0.4120(0.0000
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3) EFALDIAIE

== (o) o= = & dt(med/lux) =32

S#1 S#2 S#1 S#2

10U Vv 500 1557.0 1430.0 o= | 2=

5U 20L 250 684.0 706.0 o5 | B =

5U 20R 250 822.0 853.0 ot & | Bt =

0.33 H Vv 750 1985.0 2070.0 o= | 2=
5D 20L 250 686.0 747.0 g = | BF =

5D 20R 250 798.0 872.0 gt = | B =

10D V 500 1522.0 1557.0 gt = 2=

10U v 7 66.5 72.8 oF = | o =

5U 20L 6.25 32.4 34.5 ohE | o=

5U 20R 6.25 31.5 36.8 o= | o=

1.5 H Vv 12.5 98.6 111.4 o= | 2=
50 20L 6.25 29.3 35.2 oF = | of =

5D 20R 6.25 34.6 38.3 oF = | o =

10D v 7 66.4 73.0 ot = | o =
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